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Cell size | No P/N Fig| Insulating tube A B C D E F G H I J K L M
1632 2 | CR-1632/G1AN | 1 yes 161 = 02| 1091 £ 0.1 17 = 1 152 = 1 9.1 += 08 |[525 = 08| 02 £ 0.05 3 + 05|07 =+ 01]1016 = 02| 3 =+ 05075 = 01508 = 038
2032 4 | CR-2032/GUFN | 1 yes 201 = 021091 = 01]205 = 1 178 = 1 9.1 + 08 |525 = 08] 02 =+« 005/ 35 = 05]/075 =+ 01]1016 = 02|35 = 05|075 = 01]508 = 08
2330 9 | CR-2330/GUFN | 1 yes 231 == 02] 1091 =+ 0.1 24 = 1 178 = 1 8.9 += 08 | 525 = 08) 02 =+ 005/ 35 =+ 05|/075 =+ 011016 = 02|35 £ 05[075 == 01]508 = 08
2354 10 | CR-2354/GUFN | 1 yes 231 X 02 1091 == 0.1 24 £+ 1 178 = 1 105 == 0.8 45 + 08| 02 =+ 005 35 =+ 05075 == 01]1016 = 02|35 == 05]|075 = 01| 508 =+ 08
2450 11 | CR-2450/G1AN | 1 yes 246 =+ 02 ] 1091 =+ 0.1 25 =+ 1 178 = 1 10.7 =+ 0.8 51 =+ 08] 02 =+ 005/ 35 =+ 05|/075 =+ 011016 = 02|35 =+ 05[075 = 01]508 = 08
2477 14 | CR-2477/G1AN | 1 yes 246 =+ 02 1091 == 0.1 25 £+ 1 255 =+ 08| 119 =+ 05 36 = 05| 02 =+« 005/ 35 = 05| 075 == 01]1016 = 0.2 075 = 01]508 = 08
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